3—1 A 3—1 Ela)fznh ik Pl , e
1 A a=0.045 m, & 2 FIFFK 5=0.225 m, &
¥F I BD K ¢=0.180 m, BD 7517 6=30°, I
W1 IAAIEE 0, =10 rad/s. W ERK o=25°1)

WH 3 T Vs GIHE a3, EFF 2 D AR
Vo ST ap (Z%4%. V3=—0225m/s, a3=—
4.8 m/s>, Vp=0.121 m/s, ap=5.392 m/s>).
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£y=10 (mm/s)/mm

73
fige: (a) HEE
=4, puy=(450mm/s)/(45mm)=10 (mm/s)/mm

Vs=aw,=0.045X10=0.45 m/s=450 mm/s  pb="Vp/uy=450/10=45 mm

Ve=Vat Vs
Vi=pexuy =22.5x10=225 mm/s

Vo=pdxuy =12.1x10=121 mm/s

Vep=wrxb=cbx iy, @r=cbXu,/b=40.85%x10/225=1.816 rad/s
ac=agt a’cpt d'cp

ag=w’,a=10"x45=4 500 mm/s

a"cp=w’,b=1.8167x225=742 mm/s

16,= (4500 mm/s®)/(45 mm)=100 (mm/s*)/mm ¢

p'b'=ay/j1, ~4500/100-45 mm ¢

b'e"= a"cp /11,=742/100=7.42 mm "
bl
ay=p'c'* 1, =48x100=4 800 mm/s

1£,=100 (mm/s)/mm

— — = 2
ap=p'd'*u, =53.92x100=5 392 mm/s (b) hnEEE



3—2 8 3—2 ATy AR, DD, I OTE O5 fi A28 en BIEIR, 5
ez gy Sahig 2l G Ak, KRR g =865 JSTH/E ERSF=350, ©,=3.14 rad/s, iX
FHEfR R 2E S TEEURAT B RIERE Vs (55 % V5=0.983 m/s).

Va=aw,=7.26X50X3.14=1140.4 mm/s

VB:VA+ VBA @LR#
a=17.26 mm

b=26.47 mm

c3;=18.58 mm
d=28.02 mm
p c3;=18.58 mm

H3—2E
d

£y=50 (mm/s)/mm pa=22.8 mm

EEE pb=19.66 mm

Vg=19.66 X50=983 mm/s @3 ="Vp/c33=983/(18.58 X 50)=1.058 rad/s

Vs=w; c3=1.058 X 18.58 X 50=983 mm/s

3—3 8 3—3(a)E Frs A ASL BRI TAENLM, B4 d=0.420 m, a=0.125 m, b=0.820
m, ¢=0.656m, Hy=0.800 m, w;=0.2rad/s. RHMHERMIL 5 A Ss. 3% Vs 5N
Y as (Wl 3—30b)FR).

(2) (b)
B 3—3



3—4 B 3—4 El(a) s i A LU AL S ) TAENU, 0,4/0,05=a/d=0.5, a=0.100
m, bg=0.160 m, d=0.200 m, KHAMBNILERESMNEN1E 5 IS S5 B Vs 5N E as

(e 3—40b)Fr).

(a)

H3—4H

3—5 M 3—5 El(a)fran kN FAT R S WS - N AL, il 1 o0 E9, o
=10 rad/s, BaFE S5 AN, U MENEE S IAB T ERALE R, B MEEE 5 PR
H5F 3 ®H. % d,=0.100m, 6,=60°, r,=d;sin(0.56y), r3=0.180 m, d,=0.95r3=0.152 m,
b5=0.040 m, Hs=0.35r3=0.063 m, S3&/R#EMF 3 F 04 MKEE, SsKnBs\ahth 5 (67
¥ AT IE SR B NS 5 BIAEHE Ss I Vs B I as(Z% ihZen& 3—5(0)F7) .
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